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)���
��$�����: (�	�0+�
(1)x(2)x(3) 

1 ������6���������� 2 36 5 360 

2 0����:�� 1 100 3 300 

3 ���*	��,��"�
�
: 1 1,500 4 6,000 

4 �*	�= - 100 1 100 

    ��+ 6,760 
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 6,760 �����-(�	�0+� ��
�������
������������
�������	
���������� (Pcell) ��
��$��!�%
�=  
��6������%��,��� 

 

0����	 PL : ��
+�!���
�#����
�����
'���/	����  

Q: #����
�����
�����'���/	���� (�����-(�	�0+�/�
�
��+��) ��
���",�&��:�����%
��" 4,000 �����-(�	�0+�/ 
�
�
��+��0��,�&+
$ 
A: �%
(��(��
��6H������������ 0����	��,��
����%
,�&+
$ 0.8 
B: �%
(��(���
+�6H�����(����
+�!�� 0����	��,��
����%
,�&+
$ 0.85 
C : ,�&���M�N
#���������������� 0����	��,��
����%
,�&+
$ 0.85 O0.9 
D : ��
+��!+���,��� = 1,000 �����-(�	�0+�/�
�
��+�� 
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Pcell = (6,760/4,000x0.8x0.85x0.85/1,000) = 2,923 ����� ��*�,�&+
$ 2.9 ��0������  

  

���������	 2  
 
����������	 1 ��!��
"�%
 &�!������������������
�������%
��" 2.9 ��0������ ��&����������
��&�������	�!��
,���'�!��������������*� 200 0����(V) U
+�%
 &�!��'(!�)����������
�������	�)���& &�!���%�����������%
��� 
0���++���%
 �)����������
�����+���,�������'�!��
�������
�6��V���%
��" 50 �����(W) ����������
�6��V� 17 
0����(V) ��&������
�6��V���%
��" 2.94 ��+�,��(A) ����������
�� ��,X� 21.3 0����(V) ��&��&������

����� � 3.15 ��+�,�� (A)  

��M�#� 
�$
 
,�&+
$�
����	+������ �
�������)��������	�!��������������+� = 2,900 (W) / 50 (W) = 58 �)� 

 �
�������)��������	�%���V��+ = 200(V)/ 17(V) = 12�)� (,Y��:Z�/��) 
 �
����)���	�!���%���
� = 58 / 12 = 5 �U� (,Y��:Z�/��) 

  

������� ��$�"!
�������� &'(!�)����������
����������+� = 12 x 5 = 60 �)�  
0���%���V��+�U��& 12 �)���&�%���
� �
��� 5 �U�  
 


